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import org.springframework.context.ApplicationContext;
import org.springframework.context.ApplicationContextAware;

import org.springframework.stereotype.Component;

@Component
public class ApplicationContextProvider implements ApplicationContextAware {

private static ApplicationContext context;

@0verride
public void setApplicationContext (ApplicationContext applicationContext) {

context = applicationContext;

public static ApplicationContext getApplicationContext() {

return context;
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public class MyKafkaConsumer {
public void processMessage() {
ApplicationContext context = ApplicationContextProvider.getApplicationContext();
SomeService service = context.getBean(SomeService.class);
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import org.springframework.beans.factory.annotation.Autowired;
import org.springframework.context.ApplicationContext;

import org.springframework.stereotype.Component;

@Component
public class KafkaConsumerCreator {
QAutowired

private ApplicationContext context;

public MyKafkaConsumer createConsumer () {

return new MyKafkaConsumer (context) ;

public class MyKafkaConsumer {

private final ApplicationContext context;

public MyKafkaConsumer (ApplicationContext context) {

this.context = context;

public void processMessage() {

SomeService service = context.getBean(SomeService.class);
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import org.springframework.beans.factory.annotation.Autowired;
import org.springframework.context.ApplicationContext;
import org.springframework.kafka.annotation.KafkalListener;

import org.springframework.stereotype.Component;

@Component
public class MyKafkaConsumer {
QAutowired

private ApplicationContext context;

@Autowired

private SomeService someService;

@KafkaListener(topics = "my-topic")
public void consume(String message) {
// someService
SomeService service = context.getBean(SomeService.class); //

someService.process (message) ;
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